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1. 744 C06~'07 A71=d)

O A3 XE ] £x23Ad JE3A 9 s
— A
HAEdx AA A5 T 7] 3 & )& 2 &4
(vk=l/Z71) (ZN/3271) (N/ZE71) (%) 71
0 7.7 0 0° 0
1 9.3 1.3 14.8" 7.0
3 7.7 6.3 83.3° 66.7
5 7.7 2.3 30.4" 28.0
7 7.0 6.0 85.7° 58.0

 HRAE A - 25 CT=AolA A, AHF L5 79 2 A 24

- AFANF
HEAE A4 73 G 7] 3l & e
(wk]/3271) (ZH/E71) (ZW/E71) (%) (ZH/E71)
0 5.7 0 0° 0
1 5.3 3.0 55.6" 19.0
3 5.0 4.0 80.0° 26.7
5 4.7 4.3 93.3° 66.7
7 5.0 4.3 86.7° 44.0

# uF AN BE T 250N A, BF 8AF 49 2

=4
it
2
i_r?
2
@
>



1
. .

v
=

71

N

o

BAA o
o) (e

A

=

ST
X

0.21
0.20
0.30
0.17
0.14
0.33

Z7])

AL
i I

o

4 %

J

S
=

A A A&eE

g "=(mhe]/

H
=

A

==

o

X Z2x%

Y = —155.36X + 3564.7C06, A2 15)
(kg),

Y = —167.82X + 3474.5C07, A2 15)
Y = —109.65X + 3549.1C064 4] 3F)
Y = —197.09X + 3334.9C06, A4 15)

Y = —244.08X + 3425.9C07, &2 15°)
Y = —101.07X + 3457.6(°0674 2] 35F)
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